
Trigonometry
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Ex. Find the trig ratios for the given angle.
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Ex. Find all solutions on [0,2π].

a) tan 𝑥 = 1     



Ex. Find all solutions on [0,2π].

b) 2 cos 𝑥 + sin 2𝑥 = 0



Ex. Find all solutions on [0,2π].

c) 2 + cos2𝑥 = 3 cos𝑥



Moving and Combining Functions

 

 



Ex. Use the graph of  f (x) = x3 to sketch:

a. g(x) = x3 – 1 b. g(x) = (x + 2)3 + 1
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Ex. Use the graph of                     below to 

describe and draw the graph of:

a)

b)

( )f x x=

( )f x x= − 2

g x( ) = x
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( ) 2f x x= − +



Ex. Use the graph of                   below to 

draw the graph of:
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means

Ex. Given  f (x) = x + 2 and g(x) = 4 – x2

a)

b) 

c) ( )( )g g xo



Ex. Use the graphs below to evaluate.
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b) 

c) 

( )( 4)−f go
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Ex. Write                            as the composition 

of two functions.
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